Tk W N~

gbooooobooooon

6 Joooon

gbogbobooboobobobooaobuobobobobobooboboobobboobooobaobaonoo
goboobooboooboobooobobooboobbooobooboobbooboobbobboooboon
OOCOCOCOOOOOMATLABOOOf£ft 0000000000000 0O00O0O ffc 0000000

gboooog 12 f#ft00000000000d

>> fs=100;

>> t=0:1/fs:7;

>> y=sin(2 *pi *15+xt)+cos(2 *pi *40+*t);
>> cs=fft(y,600);

>> plot(abs(cs))
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>> length(cs)
ans =
600
>> abs(cs(297:304))
ans =
1.0e —012 =

0.4916 0.2391 0.1781 0.2115 0.1807 0.2115 0.1781 0.2391
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cs(1) 00 es(301) OO0 30000000 50HzO0OODOOOOOes(2) O 50/300=1/6 Hz 00O Ocs(7) O
50/300x (T—1)=1H0000000000000000O00O0OOOUOOD0OODO0OO0OO0OOO0OOOOOO
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>>a=[51026 3]

a =

5 1 0 2 6 3
>> ax4
ans =

1 0 0 0 1 0
>> a(a >4)
ans =

5 6

>> find(a >4)
ans =

1 5

gobodboroboobooboboob0oooDboobL o000 boUbbUDbOooboOn
000040000004 000000001000000000000000O(1100:100000000
ooooOooooon)
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000000000000 000000000000000O00+£ind 0000000000 (1900)0 find
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U0 find 00000000000 1200000000000000000000000

>> find(abs(cs) >250)
ans =

91 241 361 511

000091000241 00000000000000091000 50/300x 91 —1)=15Hz0241000
50/300 x (241—1)=40Hz0O0 000000 O0O0OO0O0O 1203000 sin0cos 00000000 OO0OOO
gboboooooooooooboobOoboboboboboobooooooooooooboooOoOobobOobon
ooo
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y = Acos(2mft + ¢) (4)
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>> ¢s(91)

ans =

—9.2300e —012 —3.0000e+002i
>> cs(241)

ans =

3.0000e+002 —1.0978e —011i

500000 ¢s(91) 00-9.23x10712-300i 0000300 00000000000 0110000cs(241) O 300
000000000000e¢000O00OD (DOOO0)UDUOO (OUD)0DDOUOUOODDOOOOOD MATLAB
U000 angle DO OO

>> angle(cs([91 241)))

ans =

—1.5708 —0.0000
>> ans/pi
ans =

—0.5000 —0.0000

cs(91) 0000 —1/2r O0cs(241) 0000 000O0OO0OOOO0OOOOUOOOOOOOOOOUOOOOO
000000000000 120 yOOOOOcos(2715t—1/27) O cos(2740¢) 000000000 DO0OOOO
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0000000000000000000000000(y 0000000 120000000)

>> plot(abs(fft(y,599)))
>> plot(abs(fft(y,601)))

fft 0000 60000 0000000000000 0DOO0O0O0O00O0DO0O0O00OO0OyOOOOOOOOODOOO
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gbooobobooon s#ft0o0gbouobooboobooboboooboobooooboobooboobfft O
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00000000000 (0ooU0o)0oooooo

>> w=hann(600);
>> plot(w)
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>>
>>
>>
>>
>>
>>
>>

hy=y(1:599).
plot (hy)
hcs =fft  (hy);
plot (abs(hcs))
les =fft (y(1:599));
hold on

plot (abs(lcs ), 'r)

*hann(599) '

7000000000000000000O00OO0O000O(6000ODO0O00UODOO0O0O0OOOOOOOn
O000)7000 plot 00002000 000000000D0DODOOOOOO0O

300

250

200

150

100

50

‘L Jw

0 200 400 600

0

gbooooooobooooboooboo souoboobooboobooobooboooooboooboobooooooon
oboboooboobooooooboo 130 40000000000000000DOO0DOODOODOODODODOOOn
gboooooboobooobooboooooboboooooboboboooobooo

30 1

20 1

obooooobooooboobooooboobooon

170

160

150

140

80 100 120 140

gbobooboobooooboboooboobooooboboooooboooooboon

14




8 Uububnpogdg

ugboabod #ftodbugboobobooboooboobobooboobobbaoboobooba
0000000000000 ££t00000000000000000O00O00120BPM (100040000
1200 0000000000)0000000 4000000000000 00OOOO0ODOOODOOOODOOODO
0000000000000 60s=120=05s0000b600ms 00000000000 O0OOODOOO

000000000000000000000000D0000000?2@m

obooobOdo 14 00b000000boobogoboon

>> [y, fs]=wavread( ' domiso.wav ' );
>> plot(abs(fft(y)))
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0000000000000000000000000000000000000 (frame) 000000000
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>> [y,fs]=wavread( ' domiso.wav ' );
>> S=spectrogram(y,hann(256),128,256);
>> size(S)
ans =

129 36

ooboob 150 s0 1290 360000000000000 1000 yOOOO 26000000000 ££ft
oboooooboooon

0000t 0000000000000000 (6000000000000 000ODO0OUOODO0OOOOOO
000000000 00O0O000o0oO000oOO0O0o00oOD)000000 12900000000000
gbooobOoboooobob 1290000000

00000060 spectrogram 0 20000000000000000 30000000000O000O0DOAO
oooo04000 f£ft 0000000

spectrogram 1 0000000000000 OOO0OO0OO0OO0DOOOOOOOOOOOODOOO

200000000000000000000000000000
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>> spectrogram(y,hann(256),128,256, "yaxis ")

00000000000000000o0o00U0oo00 (0D 400000000000000000000)OO
gbooobooboooobooooboobooood

gboboboboboobobooooobooooobooooboobooboobooboobobobOobobobOobon
gbobobooooooboooooooooooboobooboboboobobooobooooobooobooboboOooboan
ob1000000000

gboooboobooooobobooobooD fftgbooboooooboo

>> figure(2)
>> spectrogram(y,hann(512),128,256, "yaxis ")

figure(2) 00000000000 ODOOOOO0ODOOODOOOO0ODODOOOfigure() OOOOODODODO
Ub000figure D0 000000 0O0OD0OOOOOOOOODOOO
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>> SL=S(;,10);

>> SR=flipud(conj(S(2:end —1,10)));
>> S10=[SL;SR];

>> plot(abs(S10))

>> plot(ifft(S10))

gobobooooooooooooooooobobooboboboobooboooboooooooDobOoDbOon
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>> [y,fs]=wavread( ' domiso.wav ');

>> fftlen=256;

>> noverlap=128;

>> S=spectrogram(y,hann(fftlen),noverlap,fftlen);

>> [spsize slen]=size(S);

>> ry=zeros(1,slen +fftlen —(slen —1) *noverlap);
>> for i=1l:slen,

SL=S(,i);

SR=flipud(conj(S(2:end =1)));

i1=1+(fftlen —noverlap) *(i —1);

ry(il:i1+fftlen —1)=ry(il:i1+fftlen —1)+ifft([SL;SR])
end

>> plot (ry)

>> soundsc (ry, fs)

>> soundsc (Y, fs)
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